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H:\SecureLab\study>openssl
OpenSSL> ?

Cipher commands (see the "enc' command for more details)
aes-128-cbc aes-128-ecbh aes-192-cbc aes-192-ecbh aes-256-chc

aes-256-ecb  base64 bf bf-cbc bf-cfb

bf-ecb bf-ofb cast cast-chc  castb-cbhc

castb-cfb  castb-ecb  cast5-ofb  des des-cbc

des-cfb des-ech des-ede des-ede-cbc des-ede-cfb
des-ede-ofb des-ede3  des-ede3-cbc des-ede3-cfb des-ede3-ofb
des-ofb des3 desx idea idea-cbc

idea-cfb idea-ecb  idea-ofb  rc2 rc2-40-cbc
rc2-64-cbc  rc2-chc rc2-cfb rc2-ech rc2-ofb

rc4 rc4-40
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openssl enc -ciphername [-in filename] [-out filename] [-pass arg] [-€]
[-d] [-a] [-A] [-k password] [-kfile filename] [-K key] [-iv V] [-p] [-salt]
[-P] [-bufsize number] [-nopad] [-debug]
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H:\SecureLab\study>type data.txt [ A REIHYAR]
012345678901234567890123456789

H:\SecureLab\study>openssl rc4 -in data.txt -out cipher.txt [ 1% )
enter rc4 encryption password: [ g At © 1234567 )
Verifying - enter rc4 encryption password: EXELTPNINES . |
H:\SecureLab\study>openssl rc4 -d -in cipher.txt -out plain.txt [ f#=Z R )

enter rc4 decryption password: [ A fiE == gmit )
H:\SecureLab\study>type plain.txt [ ZE R 1ZEH S )

012345678901234567890123456789




